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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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FRV (ml plant-1)

P3-12_0, Day=62 (2025-06-03)

150 Fm———=—F——————F——————F——————F-—————F——————F-—————F-—————F——————f-—————F-—————f——————] i
VI V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3000
2300 2218

100 809+ 2000
1700
465 805
50 1 fog - 1000
Warning: lcol [FVI',| "FVO’'] missing 18
0 -
4

( o v
200 + FRV

100 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

]
Bylnit] @63 01:49: ET=1413 Fg=1650.0 Ro=206.0

300 -
- 2000

200 -
- 1000

ET (ml/hr/plant)

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES
300 - B B B 5] B B B 5] B B B 5] B B B 5] B B B 5] B B B 5]

ByEt @62 19:05: ET=1750 Fg=1809. 0 Ro=nan

- 2000

- 1000

ET (ml/hr/plant)

1

]

1

1

1

1

1
g & & o | Team——
1 2 K] 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
B [ 5 i 5 5 5 i 5 5 5 A B 5 G i B B B G B B B G

300 -
- 2000

]
ByWon:@D63 01:49: ET=1606 Fg=1950.0 Ro=429.0

1L

200 -

I
1
: - 1000
1

100 A

ET (ml/hr/plant)

1
) ———

2 3 6 7 8 9 10 | 11 12 { 13 ] 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 22 | 23
e | B | B [ A5 | B [ A5 | B5 | A5 | ®5 | A5 [ RS | A5 | RF | S [ A5 | FS [ A5 | BS | A5 | M5 | A5 | ”G | S | AR

1.0

0.8

0.6
0.4+

0.2~

2808 7

—_— 4
o | _obs
—@— PPFD obs

1500

1000

500 -

80 A
60

—— RH »
04 @ RH_obs

[ ) RHo_obs

2.0

1.5

1.0 -

0.5 -

0.0 A

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=440, FV0=0 m=485, FV0=0 m=530, FV0=0

—— ME —e— ME 28.6 11 _g— M_E
27. 25 1 28. 2 -
28. 4
27.00 1 28.0 -
28. 2 -
26. 75 1 ]
27.8 28.0 4
26. 50 -
27.6 - 27.8 1
26. 25 -
27. 4 1 27.6 -
26. 00 -
T T T T T T T T T T T T
400 600 800 1000 440 445 450 485 490 495 550 555 560
m=605,m FV0=0 m=650,m FV0=0 m=695,m FV0=0 m=735,m FV0=0
28.81 _q M E o — ME 29.24 _g ME 2944 _g M E
28. 6 1 29.0 1 29. 2 1
28. 8 1
28.4 7 28.8 29.0
28. 6 -
28.2 28. 6 - 28. 8 1
28 0 _ 28 4 N
28. 4 28. 6 -
27.8 - 28.2 1
28. 2 - 28. 4 -
27.6 28.0 1
T T T T T T T T T T T T
605 610 615 650 655 660 695 700 705 735 740 745
m=780,m FV0=0 m=830,m FV0=0 m=875,m FV0=0 m=930,m FV0=0
29.501 oy 2941 o ME 2967 o WE 29.50 1 @~ M.E
29 25 - 29. 2 A 29. 4 A
29. 25 -
] 29.0 - 29. 2 -
29.00 29. 00 1
28. 8 1 29.0 1
28. 75 1 28. 75 1
28. 50 28. 6 - 28. 8 - 26,50 4
28. 4 - 28. 6 -
28. 25 - 28. 25 -
780 785 790 830 835 840 875 880 885 930 935 940
m=975,m FV0=0 m m=440,m FV0=0 m=485,m FV0=0
—o— ME —— MW —— MW 51 - —— MW
29. 6 - 50 - 48
50
29. 4 48 -
46 49 -
29. 2 - 46 1
48 |
29.0 - 44 7 44 -
47 1
28.8 - 42 7
40 42 46
28. 6 -
975 980 985 400 600 800 1000 440 445 450 485 490 495



m=530, FV0=0

50 A

49 4

48 -

47 -

46 -

45 -

—— MW

550

5%5 560
m=735,n FV0=0

46 -

45 -

44 -

43 -

42

—— MW

735

7&0 7&5
m=930,n FV0=0

45 -

44 -

43 -

42 -

41 -

—— MW

930

935 940

m=605, FV0=0

49

48 -

47 -

46

45

44

43 ——

—0—

MW

605

6%0 6%5
m=780,n FV0=0

46

45 ~

44

43

42 -

—o—

M_W

41 ==
780

7é5 7é0
m=975,n FV0=0

46

45 -

44 -

43 -

42 -

—o— MW

975

980 985

m=690, FV0=0

48 -

47 -

46 -

45 ~

44 -

43 A

—— MW

650

655 6é0
m=830,n FV0=0

45 -

44 -

43 -

42

41 -

—— MW

830

835 840

m=695, FV0=0

47 +

46

45 -

44

43 -

42

—0—

MW

695

760 765
m=875,n FV0=0

46 -

45 -

44

43

42

41

—0—

M_W

875

880 885




hour

120 -

:00
140
120
110
:05
:45
115
:45
:20
)
:30
110

100

80

- 60

- 40

WA R WA
Fed a8 @& S
Q VX X

T

§_

7
L e
N
4
2

%

N
“%

2

o
-



P3-12

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

08:25 288 150.0 2. 888 RS {Ri&e08:25 Fz (RFEEREE)
09:00 288 150.0 2.888 A5 {Ri%@09:00 Fzi (KREHEREE)
09:40 288 150.0 2.888 RS {RRi&e09:40 Fz (REAEHE)
10:20 288 150.0 2.888 BS| 1Ri%e10:20 Fz GGREEESE)
11:10 288 150.0 2.888 S| Rige11:10 Fzi (REERESR)
12:05 288 150. 0 2.888 5| {Rige12:05 F3h (KRPERKSE)
12:45 288 150.0 2.888 S| Rige12:45 Fz (REEHE)
13:15 288 150.0 2.888 |Z=| {Ri&e13:15 Fz (KEEZHE)
13:45 288 150.0 2.888 |Z=| {Ri&e13:45 Fz (KEAEHSE)
14:20 288 150.0 2.888 |Z=| {Rige14:20 Fz1 (KREEHE)
14:55 288 150.0 2.888 |Z=| {Ri&e14:55 Fz (KREAEZHE)
15:30 288 150.0 2.888 |Z=| {Ri&e15:30 Fz (KEAEHSE)
16:10 288 150.0 2.888 |Z=| {Ri%e16:10 Fz1 (KREEZEHE)
2it|3744.0 (13%) 1950. 0 3Z i REC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (195.0 :

ZRIALBRERLE156. 0 ml.

HEEKECE (1907.0 vs 3587.0) 5

156.0), AEEHT—@ % XA HS




P3-12_0, Day=61 (2025-06—02)

150_' ------------------------------------------------------------------------------------- ._3000
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2706
2300 ;74
100 71d 2000
90 1750 93215 790 - 1000
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Warning: lcol ["WC1',  "WC2'] missing
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0.8 4 optEC0=2600. 0, setECB=2080.0 B
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0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
3004 Bylnit!@D63 01:50: ET=1585 Fg=1800.0 Ro=278.0 #3000
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P3-12

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

09:30 288 150.0 2.888 |Z=| {Ri%e09:30 Bz (KREAEHE)
10:30 288 150.0 2.888 |Z=| {Ri&e10:30 Bz (KEAEHSE)
11:30 288 150.0 2.888 FA| {Ri&e@11:30 Bz (RAEEE)
12:30 288 150.0 2. 888 FE| 1BRi%e12:30 Bzh (kAERSE)
13:50 288 150.0 2.888 FH| 1Bi&@13:50 Bah (RAEREE)
15:15 288 150.0 2.888 FA| 1Ri%@15:15 Bzh (RAERRSE)
24t 1728.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEIEARTF (187.0 :

ZRIALBRERE153.0 ml.

153.0), AIEEHT—@E XA HS

large discrepency for begining water status (288:45.0), set to 288 ml.
BEEIRECE (2007. 0 vs 4153.0) T 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=60 (2025-06—01)

LR S e i it S
VI, VO*¥RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET L 1500
1200
100
40 672 750 6
50 - 40 - 500

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 - 3000
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( 1
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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P3-12

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

06:35 283 150.0 2. 888 FE| 1BRi%@06:35 Bz (kBEREE)
07:35 283 150.0 2.888 FA| {Ri&@07:35 Bzl (kAEREEE)
08:55 283 150.0 2.888 FA| {RRi&@08:55 Bz (KAL)
10:00 283 150.0 2. 888 FH| 1BRi%@10:00 Bz (kABERSE)
11:10 283 150.0 2.888 FA| {Ri&e11:10 Bzl CGRAEEEE)
13:40 283 150.0 2.888 | K/| f{Rige13:40 Bzl (KREAERSR)
2411 1698.0 (6:%) 900. 0 3ESHKEC: 2080.0, PH: 5.8

TERRHER 2 STEEART (187.0 :

ZRIALBRIERE153.0 ml.

HEEHECE (2087.0 vs 4613.0) 15

153.0), AlEEHT—@ % XA HS




P3-12_0, Day=59 (2025-05-31)

LR S e it T il
VI, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1800 - 2000

100 - 1490

284 1200 [218

50 - J5g 1000

20 40
Warning: lcol [FVI',| "FVO’'] missing

FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

1
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=420, FV0=0 m=460, FV0=0 m=525, FV0=0
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T T T T T T T T T T T T T T
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